
-1 0 1 2 3
mean log odds difference

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Pr
op

or
tio

n
of

si
gn

ifi
ca

nt
ev

en
ts

(ri
pp

le
-th

re
sh

ol
de

d)

α = 0.05

1 1.5 2 2.5 3
mean log odds difference

0

0.2

0.4

0.6

0.8
Pr

op
or

tio
n

of
si

gn
ifi

ca
nt

ev
en

ts
RUN

0 1 2 3
mean log odds difference

0

0.2

0.4

0.6

0.8

Pr
op

or
tio

n
of

si
gn

ifi
ca

nt
ev

en
ts

POST

No ripple threshold
Ripple threshold 3
Ripple threshold 5
Ripple threshold 10

A B

C

No ripple threshold
Ripple threshold 3
Ripple threshold 5
Ripple threshold 10

RUN
POST


